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It is evident, he maintains, two who bring a v are not required, etc.

OVERVIEW

"X °"awn qualified the ruling of the 71wn (that if one said 5"192 and the other said
n"1o2 that it is 7109), that it does not apply to a case where these two people were
both 2’m%w (for then it is a 7w> vx). The Xnx derived from this that >"9X >"awA
maintains that if two people bring a v3 (as 2mYW); they are not required to state
1"192. Our MdOIN discusses (that this observation is according to both 727 and X217,
and) how the X713 came to this conclusion that 121 ¥"X 21 07w.

— 12959 198 DY PRT DIYN NAYOT DIVNPA U
»"w1 explained that (according to those who maintain Mm% "X v W2W DWW
1"91) the reason for saying 1"921 is because we are concerned that there will be no

witnesses to authenticate the v, however here (since two brought the v3) there is no such
concern.

moon disagrees with »"wA:?
— NI YN NNYY PNRIPA PRY 29D 9INT INIY 1729NT NI

And the view of mpoIn is that here (when we say 17X X"X 03 WR2AW 2 720p
1"192) we are discussing even according to the one who maintains that we say

1"192 because 72wWY PRP2 PR and nevertheless he can maintain that by ¥"X ¥27w %W
"1 IR -
— “Y9ymbmY )T XY 132911 NY 1YY N1 91 233 115w SNNYT

Because 17252 nRY the 0°non were not 213 by two who brought a v3, to say 1"52
out of concern Y21pP9p» 927 1Y XMW, since it is not common for two people to bring

" However (according to this >"w1), if we maintain (like 727) that the reason for saying 1"92 is because of 7w" then
even if two °m1?w bring a v (and they do not say 1"192) it will not be a 7w> w3, since we still do not know whether it
was prepared 7w,
% See n1"nx # 38, that the reason MO maintains that 121 ¥"X X*27W 07 is (even) according to i127, for later (on this
Tny) the X7mi relates that 7271 °"7 asked 1""227 regarding 121 027w 0°1w. However, according to "7 what did 727
ask since he maintains 121 17X°w 12°1%. See (however) the marginal amendment from 727 to 71270
3 7w nK> means after they learnt; referring to the time when the people of 2" learnt and accepted the laws of
' regarding a va. Therefore the concern of W% does not exist. However the o°non still required that 1"1192 be
said (on account of nnw?) out of a concern that perhaps the people of 5" will revert to their old practice of not
caring about 7nw>.
*191p%p% 727 T Xnw means perhaps the situation will revert to its degraded status (of not caring about 75w%). This
concern applied only if one m°%w brings the 3 (since this is a usual occurrence), however when two people deliver a
03 (which is unusual), the 0°no1 were not concerned about 21227 727 7> RAW, since it is 172w INRY.
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However, the one who maintains that two people who bring a v are required
to say 11192, perforce you must say that he maintains the reason for saying 1"1192

is because AR PROP2 PR as 129 maintains -
— ONYY HYANY D292INY 1193 9V DNNI 2392 N AN 393 AT 9N XY 199N NaYY

For according to X219 (that the reason for saying 1192 is on account of avp [that
we are to certify that the husband sent this v31]), even if one (of them) did not say
o>"ip2 and the other did not say n''ipa it is "w>, since they are saying the

husband sent them to deliver this v3; it is a w2 v3, because -
— YY) 192392 199N YIIN AT

For what would be if these two 2>m>> would say, ‘he divorced her in our

presence’ they would be believed (even if they had no v3), so certainly now when they present
a 3 and say the husband sent them to divorce her that they are believed.

mooIn concluded that this 121 ¥"X "1 "2 ®19X is even according to (YT»2w InRY) 727, that when
two D°M>W bring a V3 they are not required to say 1193, merely that the husband sent them.

nooIn asks:
— 7199998 NaYYa XY 2103 *NI99Y NN BN

And if you will say; and according to [7739] (X29) also, perhaps generally two

MY who bring a v) are required to say 1192 -
— SnnonnN 10Y NAYNAN TIA0N 179939 ThT DIVN TWIT NN

And here (in our mwn) it is "w> because one of the 2’m>v testifies on the writing

(he said 2"192) and one testified on the signatures (he said n"192), but if they merely
said the husband sent us without saying 1™152, it is not a w2 V. —

> This is referring to the X1 nX X1w*> later on this T1y.
% The X"w=mn and A™w 0"an read this 72791 (not X21%7). However from the 2"mn it seems that the X073 is X279 The
difficulty with the X072 of X217 is how can MmN asks that perhaps 121 1378 121 21w (according to X27) when MooIN
just concluded that according to X211 there can be no requirement of 1"1152 by W 2w 1w for 1R 12°R 7 (and in
addition the X773 stated that the "5l between X271 1127 is by "0 2 370X [see (however) *"&an]). The difficulty with
the X077 of 721 is the word °»1 which indicates that there is certainly a difficulty according to &2 (which would
seem illogical); see w"w". The word "»1 is explained to mean that since N0 maintains that the 131 1R°27W '2 X1
¥"X is also according to 1127 (°n1 712777), the question is how do we infer that "21 ¥"R "1 01w, see n'"mi.
7 (According to 7127) they would be required to say 1"92 to ascertain that it was prepared 72w% (but not for ovp,
even if X117 7°2 n°X 127, for since they are two 2°m>w they can say 7w 11°193). See footnote # 15.
8 moon is asking how did the X3 surmise from the statement of >"7X *"2aw" (who said that if [in the case of our
mwn] they were both 2m>w it would be a w5 v) that two 2’m>w are not required at all to say 1"1192?! Perhaps (at
least) one must say 5"192 and one 11"191 as is the case in the 71wn! See “Thinking it over’ # 1.
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mooIN anticipates a possible resolution to his question:
— 9?”‘1 ND NNDM IDION 79001 NDT 11997 91919 1PN)

And one cannot say that since he is not testifying for the entire v3, therefore he
is not precise —

mooIN reject this reasoning (that when the m°%w says only one (either 3"192 or 1"192 he is not p»7):
— Y23 OHNI 152392 DYINIX O2IYI 2NI) 292 9IIN THAN I NNT

For our mwn» taught; one says 5'"'123 and two say 1''1p2 it is a "w> v) -
— %5554 N9Y 195978 X9 XTINY N2NIN NIN 15101 K91 23 9 X 10 192571 NION

It is evident that one alone is believed even though he is testifying only for the

712°n2 alone and we do not say he is not ?97. The question remains why do we assume
that two 2*m>w are not required to say 1"192 at all (according to 727)!

N1v0IN answers:
— D991 1PN RY NI D) NNDYYA 1992989 NHN ONT 919D U

And one can say; that if the ruling would be that generally two 2m%w who

bring a 3 are required to say 11192, here too it would not be effective when one
states 2"192 and the other states 11"'192 -
— NIYYT M0V D12 29NN NN 72D NNNNN DY TIYNRY THN NN INI 1PNV 11909

For since there is only one person who is testifying only on the signature (that it
was 11"'192), therefore if we would be °wan this o1°p, it would come 21°p2 219K

RADYT NV, for -
— M125059N 19701 NY ANINNNR PNDNT INNT INNRD N2XNIN Y 199N TIRT 23 Yy 9N

For even though the other m>v is testifying on the m2°n> (so seemingly there
should be no concern of *517m°K), nevertheless since that the one who is testifying
on the 72°n7 is not testifying on the ;712302, there is the concern of 271X —

? moon is proposing that when the entire 21’ of the 3 depends on the testimony of one individual, then he feels the
responsibility and is very careful to truthfully testify 1"193; however when he is sharing the responsibility with
another, he is not that meticulous and even though he is saying 3"192 or 1"192 we are not sure that this is the case,
Therefore it is as if no one is testifying 1"193, so there is no difference whether they do not say 1"1192 at all (only that
oW 9¥a7) or whether between the two of them they say 11192 (since their saying is not considered an acceptable
testimony). If it is 7w> in one it will be w5 in the other for they are equal.

1% Even though maoin previously (‘277) W 71"7 X, stated that according to X70m 27 the m°>w is not P> if the entire
testimony is not >"y nn»pnn, nevertheless here it is different because he is saying 1215 3"192 (or 1712 1"192) as opposed
to there where he states »¥n n"1921 (1712 2"192). See R"wnn (and »"n1).

' When the same m*>w testifies on the 72°n2 and on the 7»°nn (together), it is evident that this is not a regular ovp
muw (since he is also required to say 5"193), and there will be no *»17m°X. However here where the person who is
a»pn (by saying 11"192) does not say 3"192 (but rather another person is saying it), people will assume that there are
two different sets of testimonies, one for 712°n3 and the other for a1°p in which one person is sufficient and °nX
DIPTRY.
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mooIn explains that this concern applies according to 7127 as well:
— 15915nONT NAYO 199 TN 313 N2YT

For 1721 also agrees to the concern of 5771 -
— 99NN DIVN 921D 72989 923 PN NNYY DIYN AN 2392 1PN 92547 11291

For since the o»on already instituted to say 2'"192 because of 2w, they also

instituted that it is necessary to say >"192 (even only) because of 2191\ -
— Bin,nqm NP 9992 D99 NYWI9TS
As I explained this previously in the first 7=5."

mooIn anticipates the following difficulty:
— Branyy own 8ON 0P DIVN TYNY 1PI998 PR DY DNV 1PV %9 DY 9N

Even though that since they are two o°m>w, there is no need to testify
regarding 21°p, rather only on account of m»w» —

mooIn responds:
— NIN DD DIVN NT MTYT DIIYN 19207 NNPYY DIVN MTY RN 75987 11 DIPN Yon

Nevertheless since they need to testify (n"i02) at least regarding mnwb,
everyone will assume that this testimony of 17"'192 is on account of 21°p -

INRYYT IOV 019 CoIun 1919nINY AN
And it may come that it will be confused with X»5y7 n1mvw 2vp.

SUMMARY

1727 can also maintain 1192 9 ¥"X V3 W27W 2. If (according to 7127) two people
are required to say 1"192 (because of nnw?) then if one says 1"92 and the other
n"193, it will be a 100 VA since 7127 also agrees that once the 0151 were 3"192 1pnn
it (also) needs to be said in order to prevent *2177°X.

THINKING IT OVER

1. Moo initially claimed'’ that perhaps by 3 W27w 2'm5w 'a that it is 9w only if
one said 2"192 and the other 11"193, otherwise it is 9109, If the reason it is W2 is
because of their testimony of 11192 then in the case of 5"192 X "2 and one

"2 See “Thinking it over # 2.
13 See 91> *371 °% 11"7 mpoIn (and in TIE footnote # 19).
'* Therefore we must say the reason it is 7w by 1"192 9K 71 2"192 W 71 is not because they are testifying 1"1193,
but rather because 1"1192 1% X"X 03 W27W 2.
15 See previous footnote # 7. How can there be a wwn of %1 since the n"191 is only for 7w" (and not for o1p)?!
' The v"2y» amends this to read NMVW 01°p2 (instead of N1VY ovp own).
17 See footnote # 8.
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(presumably the m5w)'® says n"193, why is it 2109; there is the same testimony as in
1"192 IR 'RY 0"102 MR 'R, for here too we have 2°1w on the 772°n> (which is no less
that 5"192 7% 'X) and a 5w on the oo,

2. Moo states that the concern of "MK is also according to 727.° However 1121
maintains that 137 is not effective by vx and therefore there is no wwn of *omx;>
how can moon claim that there is the wwn of *9%m°X according to 721?!%

'8 If the m>w is not saying n1"193, then how is °wan *"1?!

19 See n"ax # 47.

20 See footnote # 12.

*! See the X3 previously on X,3 (and NN there 187 71"'7).

2 See n"m.
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